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परमाणु ऊजाŊ िशƗण सं˕ा 
Atomic Energy Education Society 

Answer key (2025-26) 
 

कƗा /Class :V         िवषय /Subject: Mathematics    िदया गया पाǬŢम/  Bridge course and L-1 to L-4  
__________________________________________________________________________________________________________  
 
                                                                        Section A 

A1. a)240    b) equivalent     c) clockwise     d) consecutive   e) 3,180    

 f) straight                                                                            (1 mark each) 

A2. i)) Ascending: 48,215    58,999        62,150       64,807     (1 mark) 

      Descending: 64,807        62,150      58,999     48,215    (1 mark)  

 ii)4,000 +200+50                                                             (1 mark) 

       10,000 +4,000 +5                                                        (1 mark) 

iii). a) 8,457                               b) 14,590                  (1 mark each) 

iv)12321     61916    32623     43231 (1/2 mark for each correct number) 

v)Accept all correct numbers. (1/2 mark for each correct number) 

A3. Acute     ii) Obtuse     iii) Straight       iv) Right     (1 mark each) 

Section B  

B1. a)2/8 or 1/4    b) 8 ones   c) 22,605 d) 569   e) 44   f)100    (1 mark each)  

B2. a)i)Accept all correct numbers ii) Accept all correct numbers (1 mark each) 

b. 1,550   1600 and 730      700       (1/2 mark for each correct number)  

c.          
ହ

ଶହ
  ,  

14
28

     ,   
 ଵ଴

ଶ଴
   ,  

12
24

   (1/2 mark  each ) 

 

d.1,070, 1080, 1090, 1,100   1,110   1,120   1,130,    1,140   1,150   1,160, 
1,170,                                              (1/4 mark for each correct number)  

e. Change problem (1/2 mark) Box diagram (1/2 mark) 520-325= Rs195(1mark) 

f. 1 x172    344 ÷2   114+58     200-28 (1/2 mark for each correct number)  

B3. North  , North   , West  , South         (1 mark each) 
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Section C 

C1.a.456    b. ¾       c.  odd     d.140                 (1 mark each)  

C2.a. i) 8     ii) 48    iii)5    iv) 48           (1/2 mark each) 

      b.i) 1,288     ii) 5,465    (1mark for alignment ,1 mark for answer) 

    c. )Accept all correct numbers (1/2 mark each) 

   d.192 – 68 =124                   931 -794=147(1/4 mark for each correct number) 

       192 -124 =68                   147+794=931 

   e. 1.5 marks for each correct drawing and 0.5 marks each for naming. 

   f. Accept all correct figures. (2 marks) 

C3.i)8,526m   ii)74m     iii)Saltoro Kangri ,Kamet, Nanda Devi, Kanchenjunga, 

      iv)830m                                                       (1 mark each)  

 

Section D 

D1. a.99,002   b. two    c. odd      d. 1,000                  (1 mark each)  

D2. 1.i) 5,035kg   ii) 2,645kg                                        (1 mark each)  

       2.19736-6,859=12,877kg                                      (2 marks) 

       3.       ¼ mark each                                  

             

 

 

 

4. 4 pizzas (1mark)   ,                        2/4 pizza will be left(1 mark)  

5. 1 mark for 4 correct numbers. 

     1 mark for correct order. 

6.a.643    b. 64     c. 6   d.12                                          (1/2 mark each) 

D3. i)902   ii) 31,502   iii) 13,070, iv) 70,525                   (1 mark each) 

45               3 15 

 5  1 5 

 9  3 3 

  80              8 10 

  8 4 2 

 10 2 5 


